™

OR]
WINDOWS & DOORS

250 Staunton Turnpike, Parkersburg, WV 26104

8800 Series
Vinyl Sliding Patio Door
"IMPACT"

GENERAL NOTES

This product has been evaluated and is in compliance with the 2010 Florida
Building Code (FBC) structural requirements excluding the "High Velocity
Hurricane Zone" (HVHZ).

Product anchors shall be as listed and spaced as shown on details. Anchor
embedment to base material shall be beyond wall dressing or stucco.

When used in areas requiring wind borne debiris protection this product
complies with Section 1609.1.2 of the FBC and does not require an impact
resistant covering. This product meets missile level "D" and includes Wind Zone 4
as defined in ASTM E 1996 and Section 1609.1.2.4 of the FBC.

For 2x stud framing construction, anchoring of these units shall be the same as
that shown for 2x buck masonry construction.

Site conditions that deviate from the details of this drawing require further
engineering analysis by a licensed engineer or registered architect.

TABLE OF CONTENTS

SHEET# | DESCRIPTION

1 Typical elevation, design pressures & general notes

Horizontal and vertical cross sections

Horizontal and vertical cross sections

Buck & frame anchoring

(2] B-N (48] | %)

Bill of materials, glazing detail & components

48" MAX. PANEL

141" MAX. OVERALL FRAME WIDTH

WIDTH
41.63"MAX. D.LO.
WIDTH
| |
/ / /
VA VA Vi
—_
5
o =
5 00
2 Tz
g @ 9
— -1
2 £ o X O
m > é
> <
o = 2 i'
: 5 3
%
o~
,/ / ’/
Va Va Vi
v —
Z— Water Bar Required

141" x 96"

48" X 91.5"

41.63" X 85.63"

Gl

+50.0

-50.0

0
o 2 2
.9 Snb\g
gm £5 T¥9
2 n 2o .
‘d?ﬁ“d 2
Eoag2WN
Eonc i
EEDV OF ¢
259 9.2 o
2>k 0F 3
%’ov-vzn °

;‘Onmes .E
ON - Q¢ £

m O,._“ ]

v Q%2 % 2 0

eémgem ™

2 256 5°Q) .

83..: 0O @ °

s Dod oy ]

o 9 &

2 Sv.‘: >

€ T

[ 0 @

P o8

3

0

0

o

wn

=

Qg
%) [72]
=5 | Sg
S8 =
%) o=
Lo (., =W
o = > <O
il P I
na zd"x

o

o w
o= g_,tu
0V <X

|03 S

o wn

3 2 |9 &84

8 o

© < @

o a

S5
[72]
¥
o

S 2

b=

S o

)

©

o

2

®

'Y

‘-

T

i

ND

~lo
P

oare: 2/21/13

SCALE:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
FL—-16216.2

sHeer _1 oF _ 5

R:\A - Projects\Project Folders\Proj 1701 - 1800\PF 1709\D. RWBC Drawings\FL-16216.2 rev].dwg, FL-16216.2

© 2013 R.W. BUILDING CONSULTANTS ING.



TON] SINVLINSENDOD aNIgTHNg "M'H ELOZ @

60¥CH "ON "I'd “IPIWUDS 'd Uopuky SNOISIAZY
SNOILO3S SS0¥I F
, S A8 31vd [ON N
# =z AFLT WOLLMIA % WINOZIHOH (52 s T s e T2 vl le] o 10|
€186 'ON UOHBDZLOWINY O SIDOYNIeD : NelBlE] ol s
sioouibul |puoissejold jJO pioog DpPHOLY ‘ATBNISSY ¥O 1¥vd mﬂ = . W
L616°6G9°CLE TON ®uoud NEE 2 - 2_
S6SCC "14 OOMIPA OSZ X08 ‘O'd \Su@. SY00Q Olvd SNIANs Nl IBE|E|g
"ONI “SINVLINSNOD ONIgIINg TANIA S3143S 0088 i m . w gl i
:Ag peipdeud sjuswnoog :10NQ0¥d S m m %
{'dAL) "8w3
Faall ‘ana NIW /171
NIW F/1-L mRu <
o2 w) (o) \ -
L YA :
L © NS >
v e =
(] 08
= 0 . w| ©
) o [ 72 .n..|l$|
[ 7¢]
® _H A oIl
(—] | . Sl2s
. —|&8
—= Q 3 v < =
(S]Ee:
, =lew
= = az(2 O
- ) wios
[— A\ >0
b vdv mw
3 e
/- 2
5 mm =)
w./ < ) (R)(E
— L

V4

7“2\ HORIZONTAL CROSS SECTION

w Shown w/ 1X Buck

V4

2 CN A X

OTAN! 5] 1AW
N N
o D

S u&t@f«.’fp

4
NME MR |
NRAER
| TRLE D
¥

Vi
/3
\3/

INTERIOR
EXTERIOR

AV
//
J

V4

1|
I

/"1 "\ HORIZONTAL CROSS SECTION

W Shown w/ 2X Buck

? A\'@
= wEad
N = (o 0 i
- 22 (<
& 28 g -2 ®
o <
S~
23 (3 " @
ND.” —— T
2E ]
I 3 °
— L]

\
_
(®)

T'T BMP* (481 Z'91Z91-T4\sBUIMOIA DIMY "Q\0LL 34\0081 - 101 foid\siepiod joeloid\sioaloid - w\:¥



TAON] SANVLINSNGOD aNIaTINg "M’y eL02 @

MQ\.‘.? ..oz “I'd “IPIWYDS "4 uopuky SNOLLOIS SSO¥) = SNOISIAZY STV ToN N
&z \\v&n\wm.\ WOLNIA #® TVINOZINOH I 9 slselo| X9l
£186 "ON uopbzUoyNY”’JO ©IDOYIHeD —— 2Ar : p_osmoy| v1/c/Z | | N |3 Ll = i

sJsoouibu3 |DUO|SBRjOId JO pJDOG DPUO|Y *ATBN3SSY d0 1dvd 49“ = o &
LB16'659°C18 "ON euoyd Y . g - 3_

SBSEEC "4 OSMIDA O£Z %08 "O'd \Su\g.. S¥004 OlVd 9NIANs Nl BB !
*ONI ‘SINVIINSNOD ONIGTING IANIA S31¥3S 0088 i m S M o m

:Ag pespdeug sjuswnoog -10NQ0dd - m W

((dAL) w3 .|

Y

INTERIOR

— NIW ¥/ 1-1

. . . —
R e w)lo P jﬂ@ /
. ™ i .
v o b 3
T...vt | 3 @
C e o [l .
v . O~ = —
o =1 18 .

Direct to Masonry @ sill (w/ optional strap)

G1

7“3\ VERTICAL CROSS SECTION
\y Shown w/ 2X Buck at head &

EXTERIOR

{'dAL) "gwW3
NIW #/1-1

1817
22
)
19

w Shown w/ 1X Buck (w/ optional strap)

7“2\ HORIZONTAL CROSS SECTION

19)(51

I araa

INTERIOR
EXTERIOR

39

2)

m HORIZONTAL CROSS SECTION

\3_/ Shown w/ 2X Buck (optional strap)

EMB. (TYP.)

1-3/16" MIN.

1-1/4" MIN.
EMB. (TYP.)

_

€7 ‘BMP’ 1481 79129 1-14\sBumDIa DM "A\60LL 3d\0081 - L0/ foid\s18p|od 10801d\stosfoid - v\:y



R:\A - Projects\Project Folders\Proj 1701 - 1800\PF 1709\D. RWBC Drawings\FL-16216.2 rev1.dwg. 2.4

7" (TYP.) —=

G

7

3" (TYP.)
7' (TYP.)

-

|

Tt T 1T ju
I I
I I I —I
L ¥ I P
~ I I dl =
Il | £
(TYP.) : : } :
N tl
N I m
2X BUCK H I
¥ I
—\ I I
I N -
1 I
MASONRY I N
OPENING N I —
; K I 4l &
— I I =
d [l [l =
FR Il Il
O I I - _i
BUCK ANCHORING
MASONRY
CONCRETE ANCHOR NOTES:

18" MAX. O.C.

1. Substitution of equal concrete anchors from a different supplier may have different edge
distance and center distance requirements.

2. Concrete anchor locations af the corners may be adjusted to maintain the min. edge

distance to mortar joints. Concrete anchor locations noted as "MAX. ON CENTER" must be

adjusted to maintain the min. edge distance to mortar joints, additional concrete anchors
may be required to ensure the "MAX. ON CENTER" dimension are not exceeded.
3. Concrete anchor table:

- 4" (TYP,)

(TYP.)

1/4"

4"

14.75" MAX. O.C.
' (TvP) l‘ "' 5" (TYP.) ﬁ ~—
- :':. m T T T TT T T T]
- I I
1. 1 I .
= I I ~ J
J | 2(BUCK || E 9.
2X BUCK I HEAD (TYP.) || R« >
L w/ ANCHORI | I - ==
STRAP | | xeuck(®@ <
L HeaD & 1aMB vP) | \MEETING snus/{ | JAMS TYP) -
FRAME B || \—SHOWN FOR 1 s | —
|| REF.ONLY [
SILL (TYP.) I [
MASONRY B H H "
OPENING T i
é 1L w/ ANCHOR || 1 N
I I
l [ i
] 11] ] ] ) | [ 1 1
FRAME ANCHORING
2X Buck
14.75" MAX. O.C.
(TYP.) ﬁ 5'(TYP.) —’] ——
T TTT T T N ] ]
I H T
I I .
Il r| = Q
1x BUCK Il I DIRECTTO = o __
1X BUCK [ [ MASONRY = é o
i w/ ANCHORH ::HEAD &JAMB(MYP) I = =E
STRAP l [ :;
HEAD & JAMB (TYP.) || h .
B Il | - i
FRAME -/“ : : | :
wasoney IF TYP.) H\MEETING snu%: | P
|| \—SHOWN FOR N
OPENING Il REF.ONLY 1
w/ ANCHOR | [ o
STRAP I [
I ||
1 I [ _
b ol i L] 1 I ( I ] i
FRAME ANCHORING

1X Buck, Direct to Masonry

4

6 o
0 8w ar T
gm ,':_’SMQ
Z hg’mN.
LELFAK:
%32?2 ui
H36 g o\| o
p>0 8oy o
Zoo 5L T
3823&2 E
ggéz‘éé A
03,3‘35 w
Q.-Ooﬂ c
® Roec B G
o 4] kel
o O €
: g S
c [
[} C o
P il
3
(1]
[+]
s}
1%
peti'd
| v
Go |y “E
ez a8
Wy 13 oo
n =2 x>
o U o<
o [77]
o=Z 2 @
0q
53 |3
3 o
S &
o o
SlB
n
=z
O
S |2
o el
5 i
]
2
3
x
A
]
R
N (=]
s
z
oatE: 2/21/13
scale:  N.T.S.
DWG. BY: JK
CHK. BY: LFS
DRAWING NO.:
FL-16216.2

SHEET 4 OF 5

© 2013 R.W. BUILDING CONSULTANTS ING.



R:\A - Projects\Project Folders\Proj 1701 - 1800\PF 1709\D. RWBC Drawings\FL-16216.2 rev1.dwg, 2.5

2.36

BILL OF MATERIALS 27 | SCREW CAP NYLON
ITEM # | DESCRIPTION MATERIAL 28 | GLAZING BEAD* PVC
A__|1XBUCKSG >=0.55 WOOD gg ; %:{’)“;é‘i?HERSEAL -
B | 2XBUCK SG >= 0.5 WOOD -
=374 X STV SPACE : 31_| #8 X 1-1/4" PAN HEAD, QUADREX, SCREW STEEL
D__|1/4"X 2-3/4"ELCO OR TW CONCRETE SCREW STEEL 32 | SASHSTOPPER EPDM
£ | MASONRY - 3,192 PSI MIN. CONCRETE CONFORMING TO ACI CONCRETE 33 | WEATHERSTRIP S
301 OR HOLLOW BLOCK CONFORMING TO ASTM C90 34 | FRAME JAMB
F__[1/4"X1-3/4" ELCO OR ITW CONCRETE SCREW STEEL 2 ITAIERIRE e
G |1/4"X 3-3/4" ELCO OR TW CONCRETE SCREW E
v #/10 T ,8{. TS gEEt 40 | OPERATING PANEL SIDE STILE* PVC
T TERAME HEAD" Ve 42| KEEPER FOR SCREEN :
3| WEATHERSTRIP [SCHLEGEL #HF-7522-270) i 44 | #10X2-1/2 PPH SCREW STEEL
4 THEAD TRACK® Ve 45| #10 X 1-3/4"PPH SCREW STEEL
= TSTIE & RALL® PVC 46| STAINLESS STEEL DOUBLE POINT MORTISE LOCK KIT STEEL
=T SETING BLOCK . 47 _| SASH COVERING CAP* PVC
o SLICORE 50 STLE RENFORCENENT el
2 ?:::;ASEAL e e - 51| #8 X 2" TRUSS HEAD QUADREX SCREW STEEL
10| TANDEM WHEEL NYLON 52 | INTERLOCK ALUM
17 TROLUNG RAL Y 53 | STILE REINFORCEMENT STEEL
2 Tsire VG 54| Q-LON WEATHERSTRIP [SCHLEGEL NO. QEEZ 345) i
13| SILL DUST COVER® PVC o R L
14_[SILLPLUG NYLON 26 [#8X PP
15| SILL WEATHERSEAL -
17| LEFT CAP FOR SILL ADAPTER* PVC - |
18| RIGHT CAP FOR SILL ADAPTER* PVC ' |
19 | #8 X 5/8" PAN HEAD, SQUARE, SELF-DRILLING SCREW STEEL 305" = ) )
20 | OUTSIDE SILL CLADDING ALUM = . : o0 2
22| INSECTSTOP i S 3 113" ' ~
23 | SCREEN - | —-1 ]
24| #8X7/8"PAN HEAD, QUADREX, SCREW STEEL oMo o o O
25 | FIXED PANEL ANCHOR BLOCK* PVC . Y '
26| ANCHOR STRAP STEEL I } ] AT 108" = &
* THE APPROVED WHITE RIGID PVC EXTERIOR EXTRUSIONS FOR WINDOWS ARE TO BE N
PRODUCED BY EXTRUDERS LICENSEES IN "AAMA CERTIFICATION PROGRAMS FOR N
RIGID PVC EXTRUSIONS". f 005" —=fl=—
—— 7/8'THICK GLASS . sas 3 .———————— ANCHOR STRAF |
1/8' ANNEALED ' ¥
0.090" SAFLEX® PVB 53 ) REINFORCEMENT .
2 INTERWAYER W IE ey
R 1/8" ANNEALED 1.08" B
:::::ARSPACE oL_olL_e 1 o U = ‘*j {j:
1/8" TEMPERED ” S ¥
0.08"

J

0.08" —= |-

b

L] ]

=

mf

(: ) GLAIZING DETAIL < : ) FRAME HEAD

-
5

50 REINFORCEMENT

Meeting rail

. FRAME JAMB

) g;\
E [+:]
2 Snmg
oM E- )
z”, 53N
L EFEN:
goq’ﬁz .
o® C u
FE8 28 N2
2>m 2% R
2on Y 5
. oM g% €
@ Ot aN\g
3EEI IV
g § £B5 W
0.—000 e
e R3akde G
o [+ v
oY £
2 g TE 2
C T Y
[ 0 g
R ¢
3
0
b1
o
=
e | RE
=0 G
£5 =Z
54 (,;00.
|
no ., =
WE |5 25
=% (g ES
n Sl <3
oZ =
LR85 |4 53
BlOA |x ]
57> |8 38
D —
o g =
o o
Xl
")
=
Q
S e
1]
| B
[+]
S
o
[}
K2
>
(5]
o
‘.
T
NE
ND
~lOo
Z
DATE: 2/21/13
scale:  N.T.S.
DWG. BY: JK
CHK. BY: LFS
DRAWING NO.:
FL—-16216.2

SHEET 5 OF 5

© 2013 R.W. BUILDING CONSULTANTS INC.



